

Name: _____ Date: _____

Reducing Fractions - Copy the equations.

Say it! Write it! Repeat it!

$$\frac{0}{1} + \frac{0}{1} = \frac{0}{1} = 0 \quad \frac{1}{1} + \frac{0}{1} = \frac{1}{1} = 1 \quad \frac{1}{1} + \frac{1}{1} = \frac{2}{1} = 2 \quad \frac{1}{1} + \frac{2}{1} = \frac{3}{1} = 3$$

$$- + - = - = \quad - + - = - = \quad - + - = - = \quad - + - = - =$$

$$\frac{0}{2} + \frac{0}{2} = \frac{0}{2} = 0 \quad \frac{2}{2} + \frac{0}{2} = \frac{2}{2} = 1 \quad \frac{2}{2} + \frac{2}{2} = \frac{4}{2} = 2 \quad \frac{2}{2} + \frac{4}{2} = \frac{6}{2} = 3$$

$$- + - = - = \quad - + - = - = \quad - + - = - = \quad - + - = - =$$

$$\frac{0}{3} + \frac{0}{3} = \frac{0}{3} = 0 \quad \frac{3}{3} + \frac{0}{3} = \frac{3}{3} = 1 \quad \frac{3}{3} + \frac{3}{3} = \frac{6}{3} = 2 \quad \frac{3}{3} + \frac{6}{3} = \frac{9}{3} = 3$$

$$- + - = - = \quad - + - = - = \quad - + - = - = \quad - + - = - =$$

$$\frac{0}{4} + \frac{0}{4} = \frac{0}{4} = 0 \quad \frac{4}{4} + \frac{0}{4} = \frac{4}{4} = 1 \quad \frac{4}{4} + \frac{4}{4} = \frac{8}{4} = 2 \quad \frac{4}{4} + \frac{8}{4} = \frac{12}{4} = 3$$

$$- + - = - = \quad - + - = - = \quad - + - = - = \quad - + - = - =$$

$$\frac{0}{5} + \frac{0}{5} = \frac{0}{5} = 0 \quad \frac{5}{5} + \frac{0}{5} = \frac{5}{5} = 1 \quad \frac{5}{5} + \frac{5}{5} = \frac{10}{5} = 2 \quad \frac{5}{5} + \frac{10}{5} = \frac{15}{5} = 3$$

$$- + - = - = \quad - + - = - = \quad - + - = - = \quad - + - = - =$$

$$\frac{0}{6} + \frac{0}{6} = \frac{0}{6} = 0 \quad \frac{6}{6} + \frac{0}{6} = \frac{6}{6} = 1 \quad \frac{6}{6} + \frac{6}{6} = \frac{12}{6} = 2 \quad \frac{6}{6} + \frac{12}{6} = \frac{18}{6} = 3$$

$$- + - = - = \quad - + - = - = \quad - + - = - = \quad - + - = - =$$

$$\frac{0}{7} + \frac{0}{7} = \frac{0}{7} = 0 \quad \frac{7}{7} + \frac{0}{7} = \frac{7}{7} = 1 \quad \frac{7}{7} + \frac{7}{7} = \frac{14}{7} = 2 \quad \frac{7}{7} + \frac{14}{7} = \frac{21}{7} = 3$$

$$- + - = - = \quad - + - = - = \quad - + - = - = \quad - + - = - =$$